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P g SR
2 W B #E7E Boal R
By 3% A FI054£02 H 22 H eI Dt e/ 70 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R & JE 10. 00| AHxf 30 300 972 774 540
B | 10,00 fxr|  s0| 500 1,134| 1,004] 918
NS £ % 10. 00 | #856f 134 1,340 1,296| 1,083 788
HOR w5 5. 00| FHxf 63 315| 3,240 2,889 864
ERSEaNe) o JE 12. 00 [ #A % 183 2,196 975 883 648
FEONAE (r— 4. 00| AR} 59 236 1,890| 1,787| 1,512
H & SR 3. 00| FHxf 223 669 1,296 1,036 648
H A el 1. 00 | #H % 255 255 864 665 324
ENIEE .00 4% ol 50 3,780 3,240 2,700
AN w5 2. 00 [ FH %} 158 316 1,188 1,079 864
= w5 4. 00| FH%f 123 492 1,242| 1,105 864
[ 1N 5 5. 00| FA%f 557 2,785 2,214 1,749 1,296
I ==— | 10. 00| fHx%t 13 130| 9,504| 9,421| 9,396
A7 k= b & I 3. 00| FH%f 22 66 1,728
SR kL 2. 00| FHxf 4 8 4, 104
H ik w5 5. 00| FH%f 10 50 1,836 1,652| 1,296
BenE IR 10. 00| FA % 38 380 2,484 2,171 1, 296
B %O 10. 00 | #H%f 70 700 2,484 2,168 1,620
£ A L 10. 00 | #85f 228 2,280 2,700 1,999 1,296
LA R L 10. 00 | #H%f 499 4,990 3,024 2,341 1,350
P=—1rF & [ 4. 00| FHxf 652 2,608| 1,836| 1,456 702
Tayal— w5 6. 00 | FH%f 261 1,566 2,430 2,323] 2,160
ENIE .00l Fxt| 8| 18| 2,592 2,538] 2 160
AEHEE w5 0. 10| #H%f | 3,500 350 167 127 65
ZDEH E % 0.20| #Hf | 2,700 540 86 52 49
LU &k B 0. 20 [ #H %} 300 60 86
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P g SR

ESR S TR = 1 =i Q1 IV NI )
RHE A FI054£02 H 22 H EFER S 22 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 289 2,890 4,860 3,949| 3,132
Cimigii) g, 10. 00 | #H%f 225 2,250 3,456 2,452 1,836
5 U H & 10. 00 | #H%f 331 3,310 3,024| 2,742 2,214
Avara 74U 13. 00| Hxf 88 1,144 4,212| 3,607 594
HEBR D & [ 0. 27 | ¥} 1,353 365 626 504 270
S X EF I 0. 25| FHx} 3, 532 889 518 442 270
RIHD Y S ) 0. 25| FH*F 1, 266 317 432 373 270




